[ Efficiency vs vertpos |
~ 0.8

T W

0. ..................................

o
&)

efficiency vs vert

(o))
IR E=s o=
PR —
i
st
-
*
—
-
e
——

s e

S

9 SN WS SO —

Ratio

=
1
b
L
¥

0.95L : H
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_TT _original

Efficienq —— pom_TT_newscore

~N 1.2

efficiency vs vert

Tl
Ul

S ., h

0.95% : ; :

=30 -20 -10 10 20 30
TP vert z (cm)

Ratio

[ Efficiency vs. sim PV z |

S L S At S S S S

efficiency vs Sim. PV z

0521510 -5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


